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There are 4 (Four) cmmm Answers Tand 4 cither

uestion 2 or 3. Answer 3 (Three) questions

altogether.
Use the graph paper whereves neccsary. Miarks i the mrgi indise the fll marks. CO/PO show.

)
b)

Describe an engineer's profession (munmg/x. rolels, engineering process). Use the 6

keywords or key points but write adequatel cot
Engineering education teaches students m: concept “systems” in every field for the POI
benefit of mankind. "hl.lm is the all-embracing knowledge-bascd System of life given 7

by the Creator and Sus lain the statement mlnmgwﬂusopcofbwvdedy col
of engineering for the uv:rlll beneﬁl of all creatures and natural ecosystems. PO8
State the function of engineering economics. Poin out the relevance of your registering &
for ths course (Engineering Economy and Finance).
State the meaning, scope/iypes, and imporiance of cngineering economic decisions. ¢

A company prodicing some enginecring products s following the budgetary timeline 5y
of the respective country, which is July to June of the consccutive calendar years. Its

data is given in Table below:
Period Volumeof [ Total costs of | Total | Towl | Remark| coy
(month) | production/activity fixed | variable P02
(000" units) cost | cost

Draw e damina ‘graph paper (total cost vs volume, not total cost vs period) and
locate the high and low activity levels in terms of production volume and cost
involved (months).

‘Then, determine the variable cost per unit 0 lnd the total fixed cost (F).

Show the results in an cquation in the form y = ¢+ vx, where  stands for the
total cost o tevenuc,  siandsfor fsed oqsls. v stands for variable costs per unit

x stands for volume of activity (units).
iv. mey the results (fixed costs and variable costs per unit) found from m gagticl
solution and analytical solution. Complete the table in your answer s}




When  the and  the cost  functions  are
respectively R = IOOOQ iy 00107, 4g C =0. nosQ’ +40 +20000.
i. Formulate the profit function.

i. Calculate the quantity you must produce to maximize profit.

i. Determine the break-cven volume, BEP(0)?

iv. Find the quantity to be produced fo maintain the average cost. Make comment's on
‘acceptable result

s the altemative of Q2 (answer cither one)

Suppose you are thinking of producing an electronic timing switch, the direct material
direct labor, and G eveend cose per unit have been estimated to be kSO0, TkS
and Tk respecively. The scling price i decided to be 138 percent of the variable cost
‘per unit. The maximum capacity of the firm is 160,000 units per year. Its fixed cost is
xkznunmwyw For this firm:
Find the breakeven quantity in units and in pe.wme of total capacity.
i Calmlale the percentage reduction in breakeven fixed costs are reduced
10 percer

rvasable cos per unit s rducd 10 pere
if both costs are reduced 10 percent; and T the sllng pric i ncreased by 10

iv.
pesont,

State the top five features of the present value of money. Cite example/s.

Explaining the meaning and purposes with examples state at least three main
differences between future value and annuity.

State the main similarities and differences between an annual interest rate and effective
annual interest rat

Money o be invsid in enginccring projects over the time bears or possesses the
folowing isues: Ribs, cot of money, cpportniy cos, quialenc, and optimal
investment for human benefits. Describe cach of

Al undergraduate IPE students are required to complete one 3-credit-hour course on
engineering economics and finance that tends o focus on comparison of alternatives.
Present worth (PW) analysis is a popular method used for comparing two or more
Slermaives for cconomic comparisons. Explain how this method is a seecing

m [P prject out of two or more alemaivs. [Hin: menton what must
1d be applicd, "

coal-based power pum vants o buy conl from  new cos mine The price of ol is
l:hlllgmg However, a team cstimated profits over the next S years as below:
200,000, 450,000, 20,000, 400,000 and 100,000 respectively. Afer that profits vilbe
 constant amoun of Tk 250,000 peryear o th following 10 years,a which time the
mine must be closed. The going discounted rate is 10%, found appropriate for the all
these years; find the present value of the mine and suggest if it is mmm.c.l
feasibie. Draw the necessary cash flow diagramys. Suppose, plant manager asked you
o fsd ovent annual profit in terms of annuity at 10%, determine that annity along
with a cash flow diagram.
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